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X 1 +t 5
1 —y=— ve,and —— = —
zt 2 t 2
z 4) A, x, y ve z pozitif sayilari igin,
=—=19 For positive number A,x,y and z
X A=4x+2=6y+4=10z+8
1 1 Esitligini Saglayan en kiigiik li¢ basamakli A sayisinin
A)3  B)1 Q) 3 D) 2 E) 5 rakamlari toplami kagtir?

What is the sum of the digits of the smallest three-
digit number A that satisfies the equation?

A)2 B) 6 C)9 D)1o E) 14
2) x ve y pozitif tam sayilar.
x and y are positive integers.

3x—4y=121
olduguna gore, x'in alabilecegi en kiigiik 2. Deger kactir?

what is the second smallest value that x can take? 1
A)43  B)47 ()46 D)44 E)45 3= 3

ifadesini tanimsiz yapan kag farkh degeri vardir?
How many different values of x are there that make
the Expression undefined?

A)5 B) 4 C)3 D) 2 E)1

3) 275a ve 4a38 dort basamakl iki sayidir.

e275a sayisi 4 ile
*4a38 sayisi 3 ile

275a and 4a38 are tow four-digit number. 6) X = — — — olduguna gére,
e275a with number 4
*4a38 with number 3
tam béliinebildigine gore, a kagtir? x= l . l Since
Since it is divisible by whole, what is a? !
A)0 B)2 C) 4 D)6 E)8 islemini x tiiriinden ifadesi asagidakilerden hangisidir?
Wich of the following expresses the operation in term
of x?
1 1 1
49 28 64
1 1 L
|, X
7 8

A) x+1 B)2x-1 C)1-2x D)1-x E)—x-1



7) Sekilde grafigi gorilen f(x) fonksiyonu ile

with the f(x) function whose graph is shown in the

figure

fonksiyonu veriliyor.
The function is given.

Buna gore, h(x) fonksiyonu kag tane x tam sayi
degeri i¢in tanimsizdir?

Accordingly, for how many integer values x is the
function h(x) undefined?

e M\ v

A)11  B)10 C)9 D)8 E)7
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8) f(x) tek, h(x) cift fonksiyondur.
f(x) is odd, h(x) is even function.

f(-8)=10
h(5)=8

olduguna gore, (foh) (-5) asagidakilerden
hangisidir?

which of the following is (foh) (-5)?

A)-10 B)-8 C)5 D)8 E)10

X
9) 2° =5
Y
olduguna gore, 5 * ifadesinin degeri kagtir?
Y
what is the value of the expression 5 * ?

1 5
A)E B) 1 C)E D)2 E)S5

10) 4”+2”“+1:72.(1+%j:>n:?

A)2 B) 3 C)4 D)5 E)6
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11) V30.31.3233+1=7 14) (235412).(73737373)

A) 921 B D) 971 E 1
)9 )36 C)939 )9 )99 Carpiminin 9 ile béliimiinden kalan kagtir?

what is the remainder after multiplying and dividing by 9?

A)8 B)7 C6 D)5 E)4

12) 2 <¢x <35

olduguna gore, x'in alabilecegi kag farkli tam sayi

degeri vardir? 15)
How many different integer values x can take? .f (x — 2) =x4+m
A)24 B)22 C(C)20 D) 18 E) 16 0g(x+1):x =m="?

o(gof ) (3)=2

A)-4 B)2 C)6 D)-2 E)O

13) 9% +5% = x(mod7) = x="?

A)1 B)2 (3 D)4 £S5 16) f(x)=x+6 ,

f (2x — 1) , Hangisine esttir?
Which is equal to f(2x-1)?

A 2f(x)-7 B)2f(x)+1  ©) 4-2f(x)

D) 2f(x)+3 E) 2f(x)—5
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L2
17) A={ x:x"<25 xeN} 20) a ve b dogal sayilar,
B={ x: |x + 1| <3 xel} a and b are natural numbers.
:>S(AUB)=? a b

—=—= EBOB(a,b)+ EKOK (a+b,b—a)=63
A)7 B)5 C6 D)9 E8 3.7

=b="?
A)7 B)14 ()21 D)28  E)35

18) Bos kiimeden farkli A ve B kiimeleri igin,
for sets A and B are non-empty set,

3_S(AU B) = 6.S(A N B) — 4.S(A) 21) x bir reel (gergek) sayidir.

x is a real number.

S (B ) =12
(B\A)=? =
S = » R
6 4
A)4 B) 6 C)8 D) 10 E)12 _x+5
x+1
yukarida verilenlere gore, A'nin alabilecegi kag
farkh tam Sayi degeri vardir?
According to the above, how many different integer
Values can A take?
19) A={2,3,4,5,6} A)8 B)7 ()6 D)5 E)4

A kiimesinin alt Kiimelerinin kag tanesinde en
biiyiik eleman 5 tir?

In how many of the sub-sets of the set A has the
largest element 5?

A1 B)2 C4 D)8 E)16
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22) x reel (gercek) sayidir. 24)
X is a real number.
X
xe(-=3,5 T =
) ( ) 44—
x’+3x+11=b+x 42 _» — x="?
yukarida verilenlere gore, b kag farkh tam sayi 3
degeri alir?
According to the above, how many different A)-15 B)-10 C)-5 D)5 E) 10
integer Values can b take?
A)34 B)35 C) 36 D) 38 E) 40
23) m gergek sayisi igin,
for the real number m, 25) adbsc
rakamlari farkli bes basamakl bir sayidir.
mx -+ Sy =6 Is a five-digit number with different digits
20x+my =12 Bu sayinin 5 ile bdliimiinden kalan 4;
denklem sisteminin ¢6ziim kiimesi bos kiimedir. gllalﬁ.llo.??lumunden kalan'7iise a+b kag farkh deger
ilir?
the solution set of the system of equations is the ] o )
empty set. when this number is divided by 5, the remainder Is 4;
if the remainder is 7 when divided by 9, how
m="2 many different values can a+b take?

A)-10 B)-5 C)1 D)5 E)10
A5 B)1 C)4 D)2 E3




26) (x + y) ile (3)6 - y) aralarinda asaldr.
(x + y) and (3x - y) are relatively prime.

3x—y:£ =>xy="?
x+y 36

A)2 B)6 C3 D)8 E)S5

27)

o

30(

|a—b|+|a+b—c|—|a—c|_?

|c—a|+|a+c—b|+b

1
A) 5 B) C)

5w

4
D)g E) 1
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28) A ve B ayni evrensel kiimenin iki alt kiimesidir.

A and B are two subsets of the same universal set.

s(A'NB)=2
s(B'-A)=4
s(A-B) =11
s(B')=13
:>s(AUB)=?

A)22 B)20 C)18 D)17 E)16

29)
f(x+1):f(x)+5
) o

B> [0

A)88 B)90 C)95 D)99  E)103

30)

2x+6y+3z:13}
X+y+z="?
Bx 1t Y2223

Aj2 -+ BJ 1 "*%,Cl0" *D)*1"'" . E)-2
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31) ABC li¢cgen, O noktasi Cemberin merkezi. 33) Sekildeki O merkezli Ceyrek dairede
In the quadrant circle with center O in the figure
ABC triangle, point O Center of the circle. [DC] 1 [BO]
|BE|=|EC|,|AB|=2.|OC]| 40| = 443
m(ACB) =40 loc|=6

tarali bélgenin alani kag?
What is the area of the shaded region?

:m(ABC)ix:?

D l|||I|||||HHH|HHWIJ c

A 43 0

A)45 B)50  C)55 D) 60 E) 70
A)37—4f3 B 4r-3V3 ) 4r-43
D) 47—6J3 E) S7—-643

32) A merkezli ceyrek Cemberde D ve f teget
degme noktalari.

D and f tangent points of contact in the 34) ABCD Kare, square
quadrant circle centered at A | B C| N | BE|
=|CF|=x=? DAlan, area (ABCD)="? :
D C
2
X E
F
2V2
4
A B
A) 10 B) 12 C) 15 D) 16 E) 20
A 2 B
Al B).— C)2 oy == E)3
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35) ABCD paralelkenar, parallelogram 37) ABCDEF diizgiin altigen
|EF|=x="? ABCDEF regular hexagon
A B |BE|=|FG]| c
6 iGC|=1
. C
D f
5
K
A)7 B) 6 C)5 D) 4 E)3

A1242 B 43 62 D) 63 E) 82

36) ABCDEF diizgiin altigen, ABGH Kare
ABCDEF regular hexagon, ABGH Square

m(BHK)=?
E D
K
H G
f C
A B

A)55 B)60 C)65 D)70 E)75




38) ABC iicgen [CD] agiortay
ABC triangle [CD] a bisector
[DE]I[BC]
[CD] L[AB]
|BK|=2.|KF
|EC|=24
|DF|=7=x

A)18 B)16 C)15 D)14 E)12
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40) ABC dik licgen

ABC right triangle
[AC] L[BC]
|BD|=2.|DA|
A(DBE):? A
D
12
F
B 8 E C
A)24 B)28 C)30 D)32 E)36

39) G, ABC li¢ggeninin kenarortaylarinin kesim noktasi

G is the intersection point of the medians of
triangle ABC

A
=|AG|=7
D E
G
B 16
A)12 B)4J10 ) 411 D) 645 E) 6410
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41 ®© O A A7 [1 2 3 4
) ) ®

O A A O 6 3 2 4

m oA A Obda 1 6 s /9 —

O m O @ 5 6 2 3 9‘ (E)

A A 5 4 3 2

¢ © - - o XyY=7?

° A =2 A) E,B B) E,D C)BC D)CE  E)EC
A)1234 B)6324 C)4165
D)5623 F)5432

42) Ao m o RrR) [

~
x
>
-

45) /
1426 2341 3624 _ +
T A K 0y < v + -
R O K A 4563 6342
(o) R A K/ L \ r_xh\ \ \j
I ros N S I
. | > / H\L/ /\/
TAKO = K S \/Q AN
A) / B) Q) /
A)1426 B)2341 C)3624
D)4563 E)6342 N /;\ N )L/
é\/ _\ e / é\/ _\ ///
D) \\V/ E) \\v

46) 446=25
342 =31
145=62
7#2=2

A)a; @ B) »;® e e
D)#;® E)e; A A) 42 B) 94 C) 86 D) 24 E) 35
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47) 77 L a1 512

83 |:| 32 — 17

111 |:| 42 — 23

77|:|

X =16 = X=?

A) 11 B) 13 C)17 D)19  E)29

48) A AN

L 4
®
> ¢

<
<
¢

49) 1 3 2 6 11 19 36 66 ?

A)121 B)106 C)138 D)102  E)132

50) 16 24 35 41 36

112 144 280 205 °?

A)324  B)360  C)348 D)352  E)336

yanhs ifadeyi bulun.
(51, 52, 53 sorularda)
Find the wrong statement.

(in 51, 52, 53 questions)

51) 5 6 11 17 28 45 72

A)11  B)45 C)72 D)17  E)28

52)
27-25-26-13-11-12-6-3-5-2.5

)13« "B)riz C)5 . D)3  E)25
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53) 12 8 72 35 48 57) LI L1 O
. A A -> 1;4;2;2
A)12  B)84 C)72 D)35  E)48 A @ /A
(1O @
N @ @ » ;.
54) s 3;1;2;3
- - Q" = 7 A @ O
(] @ O = 5.5.5.2
O VANWANN®.
A)3;3;1;2 B)3;2;3;1 0)2;3;1;3
D)3;2;1;3 E)2;3;3;7
A) B) C)
58) + a b c
a c+3
D) E) b 2a+2 =b=7
c | 3b+3
55)
@ @ @ A)2 B) 8 C)5 D)11 E) 16
9 12 12
@11@14@@10@15@@17@13@
16 13 18
(2) (&) ©)
A)45 B)30 C)35 D)25  E)40 59) Y% 5 4 8
4 K 32 64
3 30 L 48
5 50 40 M
56) 68-48-24-40-20-10-26-6-3-?-"? K=? L=? M=2?
A)19,71 BJ 13,0 qag, I A)6;12;20 B)12; 36 ; 80 C)12;18;80
D) 13, -5 E) 15,21

D)12;24;20 E)40;24 ;80
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60) +/a|b o X 'a|b c
C 12 d 8 - 54 67 89
3 17+43b | e 63) | 25 | 108 2
b |13 f 94 188
—d=? 82 178

A)l1  B)2 )3 D)4 E5

A)175 B)176 C)177 D)178  E)179

64) AB
61) X a b c
a | o AB A=B-4 = C=?
4 + AB
b a.c-2 cCC
c a’b

=a+b+c=7?
A)2 B) 4 )5 D)1 E)3

A)15  B)14 )13 D)12  E)11

65) AA A E
62
) 7 2 4 17 + BB %< B x C
8 2 1 13
cc EO M N
19 2 6 7
23 5 X 32 = M+N=?
= x=? A)8 B) 5 C)7 D)6 E)9

A)3 B) 4 C)5 D)6 E)7
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ABC
66)
X DE
c9D = A+B+C-D.E=?
+ EDS8
3772
Al B)2 C)4 D)5 E)3
67)
K K LMN
LM K
NN ?

A)K B)KK C)KKK D)KKKK E)KKKKK

68) @ Oan

;

=)&)

()
()

A)OA B)ea Claa D)aaAa E)edd

Dort karakterin (a,b,c,d) her biri 1'den 4'e
kadar agirliklandirir numaralardan birine
(her biri farkh bir uygun.)

(69,70 sorularini Cevaplayimiz numaraya)

Each of the four characters (a,b,c,d) is
weighted to one of the numbers from 1 to 4
(each with a different suit.)

(Answer questions 69,70 to the number)

69) a'nin alabilecegi degerlerin toplamini
bulun

Find the sum of values that a can take

A)7 B) 6 )4 D)5 E)3
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70) ad

ad+c=7?

A8 B)5 C7 D)6 E)4

71)

[+ 11 + III = 600kg

11l = ? kg

A)275 B)250  C)225 D)200  E)270

72) 6 P
8|7 (3|1| =| 2
5
A)6;8;3 B)6;8;1 C)7;5;6
D)5;1;7 E)7;3;8

1
9
73) 0
7
Floz
|2 Fo|Z 7 |F
1 7
D) E)
9 |F 1 |7

74) Sirasiyla LILIII 'e bakan bu kiipiin
acilisinda se¢enegi dogru verilmis mi?

In the opening of this cube, which faces
LI[ Il respectively. Is it correct in the
option?

Resimde farkl goriiniimler gosterilmektedir

(The picture shows different views of the)

II1

A)ZAF B)FAZ C)ZFA D)FZA E)AZF
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75) 77) 8+3=10
12+ 8=22
6+1=5

20+8="7

A)22  B)25 C)23 D)26  E)24

23456="?
A) DNk QT g AR SN o AxO0E
78) X | a b|c + a| b c
D) AL IkL AT a 8 a 8
b 24 b
=b="
A)2 B) 6 C)5 D)3 E) 4
76) A,B,C # 0 ve birbirinden Farkli
rakamdilar.
A,B,C # 0 and different numbers. 79) [+]alb]c Xl a|b|c
a|b|d]|e alalb|c
AB5B b|d c|f b b|c|h
CA cle|fl|h c/clh m
-CA
19A h+c+m-e=?
CC5
oA = A)20 B)24 ()21 D)23  E)22
-C1B
9B
-9B
0 80)

A)206  B)315 C)224 D)202  E)214
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